You

What th Id think
YouGov Survey Results at tne world thinks

Sample Size: 1810 GB Adults
Fieldwork: 21st - 22nd May 2013

Voting intention 2010 Vote Gender Age Social grade Region
Total | con|Lab| S0 | ukip | cont| Labr | H®. | mate | Femate | 16-24+ | 25-3 | 4050 | 60+ | ABC1 | C2DE | London | REStOf [Midlands My iy | scotiangs
Dem Dem* South | Wales

Weighted Sample| 1810 X |1 X X X | 568|456 | 354 [ 880 | 930 | 219 | 462 | 619 |510]1032| 778 | 232 588 387 445 157

% % % % % % % % % % % % % % % % % % % % %
How long do you think the coalition between the
Conservatives and Liberal Democrats will last?
Will end this year 11 5 15 8 15 6 16 11 10 12 6 7 12 14| 10 12 8 10 12 14 9
Until 2014 16 14 19 16 22118 21 13 18 14 15 13 15 20| 16 15 19 16 13 16 12
Until just before the next election 21 27 21 27 19 1 24 21 28| 23 20 4 21 24 24| 23 18 18 23 20 19 23
Up until the next election 38 43 36 40 3541 33 38| 41 36 51 41 37 32| 40 36 39 39 41 34 42
Beyond the next election 1 2 0 3 0 1 0 1 1 1 0 2 1 0 1 1 2 1 1 0 1
Don't know 13 10 7 6 9 9 9 9 7 18 24 6 10 9 9 18 13 11 13 15 13
And how long would you LIKE the coalition
between the Conservatives and Liberal
Democrats to last?
Would like it to end this year 44 25 67 13 65 | 36 64 39 | 44 45 26 33 49 57| 38 53 36 40 45 52 49
Until 2014 5 8 4 5 5 6 5 4 6 3 7 6 4 4 6 3 7 5 3 5 4
Until just before the next election 8 13 5 24 5 12 6 8 9 7 4 9 8 9 10 5 12 10 5 7 7
Up until the next election 23 39 14 42 14 |1 33 13 28 | 24 22 33 25 20 21| 27 17 25 27 25 16 20
Beyond the next election 3 5 1 10 0 3 1 5 3 2 0 2 4 3 3 2 3 3 2 3 2
Don't know 17 10 9 6 11 9 11 15 13 21 30 25 15 7 15 20 17 14 22 17 17

March 1- May 21-
22012 222013

Which of the following best reflects your view?

Coalition government is better than single party
government, as it is more inclusive and makes 21 18 17 12 48 10 12 13 34 19 17 24 17 19 16| 21 14 18 19 20 14 23
parties compromise and work together

Single party government is better than coalition, as

it provides strong government that can get things 56 56 71 65 29 70 |1 73 64 35 62 50 44 49 57 66| 57 54 53 59 57 54 50
done without having to do deals with other parties

Neither 13 16 6 18 18 16 9 18 22 | 13 19 10 21 16 14| 13 20 17 15 16 18 17

Don't know 11 10 6 5 4 4 6 5 9 5 14 22 13 8 4 8 12 12 8 7 14 10
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You

Fieldwork: 21st - 22nd May 2013 What the W0r|d thlnkS
Voting intention 2010 Vote Gender Age Social grade Region
Total | con|Lab| S | ukie | con | Labr | E'P | Mate | Femae | 18-24 | 2530 | 4050 | 60+ | ABC1 | C2DE | London | REStOT|MidIaNAS T it Scotiands
Dem Dem* South | Wales

Weighted Sample| 1810 X 1 X X X 1568|456 | 354 1880 | 930 | 219 | 462 ] 619 |510]1032| 778 232 588 387 445 157

% % % % % % % % % % % % % % % % % % % % %
Imagine if after the next election there was a
hung Parliament and no party had a majority on
its own. If the Conservatives were the largest
single party which parties, if any, would you be
prepared to see the Conservatives go into a
coalition with to form a government? Please tick
all that apply
[Asked to those who would vote Conservative
n=394]
United Kingdom Independence Party (UKIP) 35 35 0 0 0 38 19 33 46 25 0 43 43 29| 34 37 52 31 31 41 20
Liberal Democrat 35 35 0 0 0 35 24 61 | 41 29 0 45 36 34| 39 25 35 36 21 46 38
Green 9 9 0 0 0 8 0 21 | 10 7 21 15 5 3] 11 3 8 11 7 10 0
Labour 6 6 O 0 0 2 48 7 2 10 20 7 4 4 4 10 4 5 5 5 30
Democratic Unionist Party (DUP) 5 5 0 0 0 4 9 17 10 1 0 7 7 3 7 2 8 3 4 8 8
SDLP 2 2 0 0 0 1 0 21 4 1 0 5 2 1 3 1 1 1 1 7 0
Scottish National Party (SNP) 2 2 0 0 0 1 0 17 2 2 0 5 2 0 2 2 3 0 1 4 10
Plaid Cymru 2 2 0 0 0 1 0 17 2 3 10 4 1 0 3 1 1 1 1 9 0
Respect 2 2 0 0 0 1 10 17 2 2 0 5 2 0 2 1 1 1 1 5 0
None of these - | would rather they formed a 23 |23 o o o |26 o0 17|18 20 |18 21 17 36| 23 24| 22 27 24 2 7
minority government without a majority
Don't know 11 1 0 0 0 11 4 8 8 13 31 6 1 7 9 13 12 9 22 2 0
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You

Fieldwork: 21st - 22nd May 2013 What the W0r|d thlnkS
Voting intention 2010 Vote Gender Age Social grade Region
Total | con|Lab| S | ukie | con | Labr | E'P | Mate | Femae | 18-24 | 2530 | 4050 | 60+ | ABC1 | C2DE | London | REStOT|MidIaNAS T it Scotiands
Dem Dem* South | Wales

Weighted Sample| 1810 X 1 X X X 1568|456 | 354 1880 | 930 | 219 | 462 ] 619 |510]1032| 778 232 588 387 445 157

% % % % % % % % % % % % % % % % % % % % %
Imagine if after the next election there was a
hung Parliament and no party had a majority on
its own. If Labour were the largest single party
which parties, if any, would you be prepared to
see Labour go into a coalition with to form a
government? Please tick all that apply
[Asked to those who would vote Labour n=572]
Liberal Democrat 38 0 38 O 0 34 36 48 | 44 31 52 45 33 31| 38 38 45 43 47 27 32
Green 26 0 26 O 0 23 24 38| 26 27 25 31 27 20| 32 18 47 28 15 26 17
United Kingdom Independence Party (UKIP) 13 0 13 0 0 29 14 7 14 12 20 10 12 15| 11 16 5 11 16 21 2
Plaid Cymru 9 0 9 0 0 16 9 14 9 10 0 8 11 12| 10 9 9 9 14 8 6
Scottish National Party (SNP) 8 0 8 0 0 26 8 11 7 10 0 8 12 8 9 8 9 8 7 6 20
SDLP 6 0 6 0 0 5 7 5 8 4 0 8 6 8 7 5 11 7 3 5 11
Respect 4 0 4 0 0 20 3 5 4 4 0 4 4 5 5 3 4 2 4 5 4
Democratic Unionist Party (DUP) 2 0 2 0 0 11 1 2 3 1 0 2 3 1 2 2 4 2 2 2 0
Conservatives 1 0 1 0 0 3 2 0 1 2 0 5 0 0 1 1 6 2 0 0 0
None of these - | woulld rather they formed a 27 o 27 o o5 30 25|20 3 | 5 26 20 36|24 3| 19 20 23 20 36
minority government without a majority
Don't know 6 0 6 0 0 4 5 4 6 5 8 4 7 4 6 5 2 3 4 10 7

*Any percentages calculated on bases
fewer than 50 respondents do not
represent a wide enough cross-section
of the target population to be considered
statistically reliable. These figures will be
italicised.

3 © 2013 YouGov plc. All Rights Reserved yougov.co.uk



	RESULTS

